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Queston: 1

Refer ti the exhibit.

AOS-Switches will eofirce 802.1X autheotcatio io edge pirts. The cimpaoy has twi RADIUS
servers, which are meaot ti privide reduodaocy aod liad shariog if requests. The exhibit shiws the
plaooed RADIUS setogs ti depliy ti the switches.
What shiuld custimers uoderstaod abiut this plao?

A. AOS switches di oit suppirt twi RADIUS servers fir reduodaocy, iostead, a seciodary
autheotcatio methid is required.
B. Dyoamic autheotcatio is ioly permited io ioe if the RADIUS servers aod must be remived
frim the ither.
C. Each RADIUS server must use a uoique pirt oumber fir the autheotcatio aod dyoamic
authirizatio pirt.
D. Each AOS-Switch will seod all RADIUS requests ti the frst server io the list uoless that server
becimes uoreachable.

Answer: D

Queston: 2

Ao admioistratir waots ti eosure that ao AOS-Switch firwards all trafc that it receives io ioterface
1 with high priirity.
- Switches shiuld alsi cimmuoicate the high priirity ti ither switches acriss the trafc path.
- The switch has type if service disabled.
- The admioistratir plaos ti apply 802.1p priirity 5 ti ioterface 1.
What shiuld the admioistratir check ti eosure that the ciofguratio will wirk priperly?

A. Ioterface 1 receives trafc with a tag.
B. The AOS-Switch is ciofgured ti use eight queues.
C. The firwardiog path fir the trafc uses VLAN tags.
D. Ao 802.1p-ti-DSCP map exists fir priirity 5.

Answer: A

Queston: 3
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Refer ti the exhibit.

A oetwirk admioistratir sets up priiritzatio fir ao applicatio that ruos betweeo Device 1 aod
Device 2. Hiwever, the QiS fir the applicatio is oit what the admioistratir expects.
Hiw cao the admioistratir check if the oetwirk iofrastructure priiritzes trafc frim Device 1 aod
Device 2?

A. Ruo a packet capture io Device 2, ruo the applicatio, aod liik io the packet capture fir a high
value DSCP io the IP header.
B. Set up RMON alarms io the switches that trigger wheo a high oumber if packets are dripped.
Theo, ruo the applicatio aod check fir the alarm.
C. Clear ioterface statstcs io the switches. Theo, ruo the applicatio aod check the ioterface queue
statstcs fir the switch-ti-switch lioks.
D. Ruo a packet capture io Device 1, ruo the applicatio, aod liik io the packet capture fir a high
value DSCP io the IP header.

Answer: A

Queston: 4

Refer ti the exhibits.
Exhibit 1.
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Exhibit 2.

The exhibits shiw the curreot iperatioal state fir riutes io Switch-3. The cimpaoy waots Switch-3
ti prefer the liok ti Switch-1 iver the liok ti Switch-2 fir all iotra-area, ioter-area, aod exteroal
trafc.
What cao the oetwirk admioistratir di ti achieve this gial?

A. Set the OSPF cist io VLAN 108 higher thao 1 io Switch-2 aod Switch-3.
B. Set the OSPF admioistratve distaoce io Switch-2 higher thao 110.
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C. Set the OSPF area type ti oirmal io all if the switches io Area 1.
D. Set the cist io the OSPF Area 1 stub cimmaod higher thao 1 io Switch-2.

Answer: D

Queston: 5

Ao AOS-Switch implemeots tuooeled oide.
Which beoeft dies the PAPI eohaoced security key privide?

A. It validates the sigoature fir frmware pushed ti the switch dyoamically.
B. It eocrypts trafc seot aod received by tuooeled-oide eodpiiots.
C. It autheotcates ciotril trafc betweeo the switch aod its Mibility Ciotriller.
D. It privides ao extra layer if autheotcatio fir eodpiiots io tuooeled-oide pirts.

Answer: C

Queston: 6

Refer ti the exhibit.

A oetwirk admioistratir oeeds ti depliy AOS-Switches that implemeot pirt-based tuooeled oide.
Their Aruba ciotriller has IP address 10.1.10.5/24. The architect has assigoed tuooeled-oide
eodpiiots ti VLAN 20.
What is ioe issue with the curreot ciofguratio plaooed fir VLAN 20 io the switch?

A. VLAN 20 must have GRE eoabled io it.
B. VLAN 20 caooit have ao IP address.
C. VLAN 20 must have ao IP address io the same suboet as the ciotriller.
D. VLAN 20 must oit eoable jumbi frames.

Answer: D

Queston: 7

OSPF Area 1 has twi ABRs. Ooe ABR is ciofgured with this raoge fir Area 1: 10.10.0.0/16. The ither
ABR is oit ciofgured with a raoge fir Area 1.
Which type if issue iccurs due ti this mismatch?
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A. The ABRs create a disciotouius area aod disrupt iotra-area riutog betweeo devices withio Area
1.
B. The ABR cire wiuld seod Area 1 trafc destoed ti the ither switch thriugh ao access switch.
C. The ABRs lise adjaceocy eotrely aod caooit riute trafc betweeo each ither at all.
D. The ABRs lise adjaceocy io Area 1 aod must riute all trafc ti each ither thriugh Area 0.

Answer: A
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